Doing a problem analysis

When you do your problem analysis, it is a good idea to use a problem tree (see Glossary of Terms) as a tool to help you.  The problem tree will help you to:

· understand the problems that face people in a particular context or community;

· understand the relationship between the problems;

· Understand how cause and effect operate in relation to the problems.

We suggest you use the problem tree as a way of analysing your understanding of a community or context which you have already investigated thoroughly.

The steps involved in developing a problem tree are:

1. Write down about 10 problem statements.  Write each on a separate card.  Each card should describe one problem experienced by people in a particular context or community.  Make each problem statement as specific as possible.  e.g. “women walk 4 kms. for clean water” is better than “women have to travel far to get water”; “50% of school leavers do not find jobs” is better than “there is high unemployment”.  The more specific your problem statement, the easier it is to look at cause and effect, and at possible solutions.

2. Select one problem as a starting point.  Write it on a different colour card.  It may not be the most important problem but it provides a focus around which to build your understanding of cause and effect.

3. Organise your other problem statement cards (on a board, wall or table) into cause and effect relationships around the focal problem.  They would look something like the diagram on the next page.  Each level in the diagram, working from the bottom up, is both a cause and an effect, and the causes and effects are closely linked even when they are not directly joined.  So, for example, the reduction in teaching staff lowers staff morale and makes it even less likely that they will be willing to run a winter school.  In this diagram, the box with the final year failure rate is the focal problem.  Any one of the boxes could have been your focal problem and you would still have produced a similar tree.

4. Add any cards you think are important, check the cause and effect logic, and take out repetitive cards.

5. Review the problem tree to reach agreement that the cause and effect relationships are valid.










There is a high rate of teenage pregnancy in the area.





Our children have no hope for the future.





Crime is a major problem in the area.





Fewer than 2% of school leavers qualify for tertiary education.





There is a 64% unemployment rate in the 18 to 24 age group.





There is a 74% failure rate in the final year for the schools in the area.





There is a poor culture of teaching and learning in the schools.





Teachers are unqualified





Frequent teacher boycotts occur.





Absenteeism among teachers and learners is high.





Teachers refuse to organise a winter study school for final year students.





Numbers have dropped dramatically and teaching staff have been cut.





Only very poor children attend the school, school fees are low and facilities are minimal.





Those parents who can afford it have sent their children to other schools.





Some points to remember about the problem tree:





Include the people who are experiencing the problems when you do your problem tree.


There is no perfect problem tree – the point is to get a comprehensive understanding of the problems and the relationship between causes and effects.


To do a useful problem tree, you need to have the facts – real information about the community.





Thanks to Olive for this explanation of the problem tree.  (See the section where we list Resources.)








